

625 State Street, PO Box 2207 Schenectady, NY 12301-2207 myphealthcare.com

July 21, 2022

Ms. Traci Hughes, FSA, MAAA Lewis & Ellis, Inc. 700 Central Expressway South, Suite 550 Allen, TX 75013

Re: 2023 Vermont Exchange Rate Filing – Small Group SERFF Tracking #: MVPH-133238198

Dear Ms. Hughes:

This letter is in response to your correspondence received 07/20/22 regarding the above-mentioned rate filing. The response to your question is provided below.

1. Regarding Exhibits 36, 40, and 41 presented at MVP's rate hearing – Please provide the quantitative support contained in the exhibits in Excel format with working formulas, the associated qualitative support, and any other quantitative backup calculation that would be relevant to the actuarial rate review.

Response:

Exhibit 36

The exhibit was printed from the following website: <u>https://covid.cdc.gov/covid-data-tracker/#vaccinations_vacc-people-onedose-pop-total</u>. The data used in the exhibit was as of July 13, 2022, and posted on July 14, 2022. MVP was interested in the one dose vaccination rate for Vermont (95%) and the US (78.5%). This is a dynamic website; make sure "At Least One Dose" is selected as the criteria if you are having trouble finding these values.

Exhibit 40

Please see the sheet "Exhibit 40" in the attached Excel document for quantitative support. The information in the MVP Utilization column reflects MVP's utilization experience and a unit cost per shot assumption of \$104 to account for ingredient and administrative costs. The Vermont Utilization column is used to serve as a reference by using different utilization assumptions. Both columns demonstrate that using the more accurate unit cost per shot assumption of \$104 leads to a projection period cost close to the CMS estimate of \$6.31.

Exhibit 41

Note that some portions of this response are confidential and will be provided under separate cover. Please see the sheet "Exhibit 41 Data" in the attached Excel document for a list of high-cost claims and the primary diagnoses for the period 2018-2021. This list includes un-trended claim expenses above \$150,000 which have been trended using the factors below.

	Trend Factor
2021/2018	1.129
2021/2019	1.089
2021/2020	1.051



625 State Street, PO Box 2207 Schenectady, NY 12301-2207 myphealthcare.com

These factors were taken from Exhibit 2a of the rate filing from prior years. For example, the 2021 medical total unit cost trend in the 2022 filing was 5.1%. The same filing showed a 2020 unit cost trend of 3.6%, which was multiplied by the 5.1% to get to the 2021/2019 factor of 1.089 = 1.036*1.051.

The trended claim expense over \$200,000 was used to create the table in Exhibit 41. Please see the sheet "Exhibit 41 Table" in the attached Excel document for quantitative support.

If you have any questions or require any additional information, please contact me at cpontiff@mvphealthcare.com.

Sincerely,

Um Part

Christopher Pontiff, ASA, MAAA Director, Commercial Market Actuary MVP Health Care, Inc.

COVID Vaccine Adjustment - Unit Cost for Small Group Market					
	MVP	Vermont			
	Utilization	Utilization			
Experience Period Cost	\$2.63	\$2.63			
Utilization Rate	39.2%	95%			
Number of Vaccines per Utilizing Member	1.77	0.80			
Total Average MM per Member	10.12	12.00			
Unit Cost per Shot	\$104.00	\$104.00			
Projection Period Cost	\$7.11	\$6.59			
Vaccine Adjustment	\$4.48	\$3.95			
Impact on Rates	0.15%	0.05%			

Claim Year	Diagnosis Description	Claim Expense	Trended Claim E
1 2018		\$197,076.78	\$222,452.28
2 2018		\$153,059.52	\$172,767.38
3 2018		\$225,100.87	\$254,084.73
4 2018		\$215,150.68	\$242,853.36
5 2019		\$188,566.80	\$205,272.02
6 2019		\$280,730.89	\$305,600.97
7 2019		\$171,112.74	\$186,271.70
8 2019		\$294,716.22	\$320,825.26
9 2019		\$184,581.65	\$200,933.82
10 2019		\$151,328.19	\$164,734.42
11 2019		\$195,935.43	\$213,293.44
12 2020		\$212,715.36	\$223,519.34
13 2020		\$219,209.52	\$230,343.35
14 2020		\$213,241.00	\$224,071.68
15 2020		\$160,153.20	\$168,287.51
16 2020		\$282,437.14	\$296,782.35
17 2020		\$271,055.00	\$284,822.10
18 2021		\$259,219.95	\$259,219.95
19 2021		\$203,103.28	\$203,103.28
20 2021		\$605,455.30	\$605,455.30
21 2021		\$178,483.52	\$178,483.52
22 2021		\$481,645.79	\$481,645.79
23 2021		\$171,291.58	\$171,291.58
24 2021		\$252,863.53	\$252,863.53
25 2021		\$359,362.17	\$359,362.17
26 2021		\$213,704.36	\$213,704.36
27 2021		\$178,560.43	\$178,560.43
28 2021		\$1,074,721.84	\$1,074,721.84
29 2021		\$218,743.66	\$218,743.66
30 2021		\$174,187.21	
31 2021		\$154,361.08	\$154,361.08

Historical Large Claims Small Group Market					
	Large Claims (>200K)				
	Trended Prior to HCRP	Member			
Year	Reimbursement	Months	PMPM		
2018	\$719,390.37	172,746	\$4.16		
2019	\$1,245,925.51	190,667	\$6.53		
2020	\$1,259,538.82	247,721	\$5.08		
2021	\$3,668,819.88	260,811	\$14.07		
3-year Average			\$8.56		
HCRP Reimbursement			\$2.48		
Large Claims Adjustment			-\$3.02		
Impact on Rates			-0.56%		